Algebra 1 Name; }CL()
Unit 7 Date; ) Block:
[V
7.2 Factoring Review
What you need to | Things to remember Examples
know & be able
to do
1. Factor by GCF | -Break down each 1.x2-12x 2.-8y2-2y
term and circle what X x -Zg ‘th
factors are common ‘
to both (that comes X \2} 9 gy + | )
out) 3 5
-What is leftover
stays in the
parenthesis
2.Factora=1 Always check for a 3. x2-15x+ 44 4, X2+ 5x-36

GCF first!

Think of what two
factors multiply to
get the “c" term and
add to get the “b"
term

(x-11)(x -Y)

(x-4)(x+9)

5.x2-9

(x+3)x-3)

6.x2—12x + 34

(X-06)*

3. Factor A not 1

Always check for a 7 ROy w4

GCF first!
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8. 4x2-4x-3
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Always check for a
GCF first!

4, Factora=1 &
GCF

9. 6x2 - 54x + 48

e

G G G
L(x*-ax r8)
Lu()c—mﬁx—ﬂ

10. X3 + 10x2 + 24x

Y (x "+ 10X +2Y)

Ec(xw)cer

5.Factoranot1 | Alwayscheckfora [ 11.6x2+8x-8 12, 4x2 + 2x -2
& GCF GCF first! - T R 2 z 2
2 (3x* rdx -4) | 2(2x%x-)
. I - X
2(3x-HXx A)| Br~the=-l 7 (20 )(x-1) =2% +X=-X
2 (ZxrY) |- 12x X = ) (5T 2% 4= X
2(3x +2XX-2) [Flox r28=-4x
2 (3-2)x 12)' box. v 2x =4y
2 (3x-2)(x+2) | D 2X"'>()§ h)
6. Special Difference of Two 13.x2- 49 14, 25x2 9
Products Squares:
areeroess | ((eTYY-1) (5xr3)51-3)
Perfect Square
Trinomial:
[a+b)2=a?+ab+b?
15. 4x2- 1 16.x2—10x + 25
[a-b)2=a2-ab + b2
(e 1) | (y- 5YY~b)
( v~5)
7. Area & Perimeter: Add up all 17.The area of a rectangle is x2+ 7x + 6 What is the perimeter of this
Perimeter outside sides rectangle? (xHXY fLo) [
: F - X, ‘]’
g:::?ongle:Aﬂxw / !XH xf,j
Triangle: A = 'zbh K i }.’ P(D
X flo

[oad]

PRams

Make sure you know your graphic organizer so you know which method to use to factor.
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7.2 Learning Goal - Factoring Polynomials

K,
J

1. Which is a factor of x2 — l1x + 24?

A, x+3C. x+4 D. x-4
(x-3)x-8)

Name:

2.  Which of the following is one of the factors of
the expression below?

42 =25 .-.(;Z,g #—5)(;2)4-5)

A. (4x-5) B. (2x+1)

C. “x-1)

What is the factored form of the expression below?

2o = (X FYY X -4)

(A (=4)(x+4) ) B. x-8)(x+38)
C. x—-4)(x-4) D. (x-8)(x-38)

4.

Date:

Which shows the polynomial 8x% + 16x + 8
completely factored?

A. (4x+ 4)? B. (4x+4)(2x+2)

Bx rFlbX +8
B 8 8

8(,(2 F2x +1)
8 (X FIXXH)
8(xr))*

What is the factored form of the expression below?

D. 8(x+Dx-1

5¢+13x-6
A. 5x+1)(x-6) { B. (5x—-2)x+3) )
C. 5x+2)(x-3) D. x-1)(x+6)

-~ | 13x
(@ﬂ I0x + -3x ="T1n No
(BX-ZYXF3)| 15x + -2 = 13K Yes*

Which binomial is a factor of 3x% + 2x—57?

= 3'r_l@ C. 3x-5 D. x-5
5 | X
(BX’QEX{'P) 32x +-5x =-2x No
(BB Xn)|-Bx By =2x Yes
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7.

8.

9.

If x =3 is a factor of x2 4+ x — 12, then the other

factor is (X %")){X ,3)
A. 4x=3 B. 3x-4 C. x-4

Written in factored form, the trinomial 2x% —3x—5
is equivalent to

A,

(x-1)x+5) B. (x+5)(x-1)

(C. (2x=5x+1) > D. Xx+D)x=9

-3%

&Qliéiaﬁﬁ)Zx

|

t-Oh=%

When factored completely, x* — 9x is equivalent to

A x(x-3)

C.

x(¥*-9)
¥ [ X +3)(x-3)

" B. x(x+3)(x-3)

page 2

10.  Which expression is factored form 2x — 2x — 127

B. 2x+6)x-1)

C. 2(x+ 3)(x-2) D. 2(x+ D(x-6)
a(x% X -0)
a( X -3)(xt2)

11. If (x—3) and (x +7) are the factors of the
trinomial x? 4+ ax — 21, what is the value of a?

7
(X-3)x+7) = X4+ Tx-3x-2]
X2 4y- 2|

A -3 B. -4 C.

12, If (2x—3) and (x + 5) are multiplied to form the
trinomial ax® + bx + ¢, what is the value of b?

(Z'x:alxka) = Zx;do,té& 19
71X+ =15

7.2 Learning Goal - Factoring Polynomials
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